3.4 Problems

Level 1 Problems

Question 1. Evaluate the limit if it exists:

(a)
$$\lim_{x \to \infty} \frac{x+1}{3-2x} = \lim_{x \to \infty} \frac{x+1}{3-2x} \cdot \frac{1}{\sqrt{2}}$$
$$= \lim_{x \to \infty} \frac{1+\frac{1}{x}}{3-2x} \cdot \frac{1+\frac{1}{x}}{\frac{1}{x}} = -\frac{1}{2}$$
$$\lim_{x \to \infty} \frac{1+\frac{1}{x}}{\frac{1}{x}-2} = -\frac{1}{2}$$

(b)
$$\lim_{x \to \infty} \frac{x^2 + x - 5}{3x - 2\sqrt{x^3}} = \lim_{X \to \infty} \frac{x^2 + x - 5}{3x - 2\sqrt{x^3}} \cdot \frac{\frac{1}{x^{3/2}} \leftarrow \text{highest power in the}}{\frac{1}{x^{3/2}}}$$
$$= \lim_{X \to \infty} \frac{\sqrt{x} + \frac{1}{\sqrt{x}} - \frac{5}{x^{3/2}}}{\frac{3}{\sqrt{x}} - \frac{5}{x^{3/2}}} = \lim_{X \to \infty} \frac{\sqrt{x}}{-2} = -\infty$$

(c)
$$\lim_{x \to -\infty} \frac{x^2 + x - 5}{3x - 2\sqrt{x^3}}$$
 not defined for negative X

Quick Conceptual/Fun Questions

Question 2. What is the maximum number of vertical asymptotes that a function can have?

as many as you want

Question 3. What is the maximum number of horizontal asymptotes that a function can have?

two

Question 4. Give an example of a function g(x) so that $f(x) = \frac{3\sqrt[3]{x^2} + 5\sqrt{x^3} + 7\sqrt[5]{x^9}}{xg(x)}$ has a horizontal asymptote y = 6.

Level 2+ Problems

Question 5. Find the horizontal asymptote(s) of the following functions if they exist.

(a)
$$f(x) = \frac{(x+1)(2x-5)}{(3x-1)(1-x)}$$

$$\lim_{x \to \infty} f(x) = \lim_{x \to \infty} \frac{[x+1](2x-1)}{(2x-1)(1-x)} \cdot \frac{1}{x^2} - \frac{1}{x^2} + \frac$$

$$\lim_{x \to \infty} h(x) = \lim_{x \to \infty} \frac{1}{\sqrt{3x^{6} + 5x + 1}} \cdot \frac{1}{\sqrt{x^{3}}} \cdot \frac{1}{\sqrt{x^{3}}} = \lim_{x \to -\infty} \frac{1}{\sqrt{x^{2} + 5x + 1}} \cdot \frac{1}{\sqrt{x^{3}}} \cdot \frac{1}{\sqrt{x^{3}}}$$

Question 6. Find the horizontal asymptote(s) of the following functions if they exist.

(a)
$$f(x) = \sqrt{3x^{2} + x - 3x}$$

$$\lim_{x \to \infty} \left(\sqrt{1}y^{2} + x - 3x - \sqrt{1}y^{2} + x + 3x - \sqrt{1}y^{2}} = \lim_{x \to \infty} \frac{3y^{2} + x - \sqrt{1}y^{2}}{\sqrt{1}y^{2} + x + 3x} = \lim_{x \to \infty} \frac{x}{\sqrt{1}y^{2} + x + 3x}$$